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1. Find the following limits and derivatives. (6% each)
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2. Find the following integrals. (6% each)
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3. A company manufactures a product at two locations. The costs of manufacturing
X, units at plant 1 and x, units at plant 2 are

C, =0.03x,* +4x, +300

C, =0.05x,” +7x, +175

respectively. If the product sells for $10 per unit, find x, and x,, such that the
profit, P =10(x, +x,)-C, - C,, is maximized. (15%)

4. The rate of change in sales for Wal-Mart from 1991 through 2000 can be modeled
by
i{% =238 + 1-(?—
where s is the sales (in millions) and ¢ =1 corresponds to 1991. In 1992, the
sales for Wal-Mart were $55484 million.
(a) Find a model for sales from 1991 through 2000. (8%)

(b) Find Wal-Mart’s sales in 1998. (7%)

5. Find the area bounded by f{(x)=x?+2x+1 and g(x)=2x+5. (10%)






